NA2 &% — NEEF REL
F2h - IRIBER  sTHEEMEAS - ASBEEE

@ S1RER E AR R HERE

BT

@ NA2T ZiERInAHEEE * RS E
@ REIINRBIBT » ZEEH

HIER
(=] EI4R (mm) 26 210 212 216
EENRI BEEA
fERmE R
SRR HEHE kgf / cm? (kPa) 1.5~6(150~600)
ERRKEN kgf / cm? (kPa) 7 (700)
ERBREE °c 0~60
{EREESE mm/s 50~ 500
EEETE mm 5,10,15
A IR AEEE
© NA2B © NA2S © NA2T
SIS NA2B 16x10-B
1 3 4
1 g %74 FI{E (mm) 4 L3 e
6 @6
10 @10
12 @12
16 @16
mEieE - EiER
e BYHEFTAE (mm)
5 5
10 10
15 15 B: 4hEFEY

NA2T : [t aa B T




NA2 &% — /MBI REL

AR - BFEAHE

F&RAA
O H#FHMER

© ME#EEE

O RIiFMER

C BEHMER

C B3R

AR E

PREREE -

= .o
=

P BHAFEESREERIIE

FREBEETRIITHMZATFEOHE

@16
\

15
0

(ww) B LTgR

0.3 0.4 0.5 0.6 0.7
RIFBAEHE (N)

0.2

0.1




NA2 &5 — /MBI REL

EE& X
BEEAX
© [BREE
® NA2B ® NA2T
< .\J
® NA2B RI|BEBIMNEBEZRWERMFER o NA2T RIIFJEIFBAPUEFEHR o
© NA2B %% HEE(E R IZEAR © NA2T PU BFEHEBER
iRy JEEERISR il REY PU &R 5%
6 6
10 MSQC 4-M5 10 PU0425
12 12
MSQC 4-M5 16 PU0640
£ MSQC 6-M5
© HAETE
® NA2S
) omE © RAONBIMER
{ N
R ORUIRAK
(mm)
6 26 x 31
10 @10 x @1
12 @13.2 x @15
16 @15.7 x 1.7
"\-\_/. ~.7
D
C
o REIELEARTE
TN 7 A B c b
| AL ™ ) 5 | 10 | 15 | 5 | 10 | 15
0 6 M10x1.0P | 85 | 10 | 17 | 24 | 16 | 23 | 30
<Uw. 10 M15x1.5P | 12 | 11 | 175 | 245 | 17 | 235 | 305
N - 12 M18x1.5P | 16 | 10.5 | 15.5 | 20.5 | 17.5 | 22.5 | 27.5
16 M22x1.5P | 19 | 12 | 18 | 245 19 | 25 |315
—_ y




NA2 &5 — /MBI REL
SVERERR T

NA2B

=\

)

FFLM5x0.8P

X &)
N kJ Q IS N I
s~ : o/
I
‘ H
|
| © S\ FEMRT - [B]
NA2S
A
L B
D
E
N ﬁm w Q L f
Q N
o w ° o L
Q
V G/
I
"
|
S o H\FERR - [B]
NA2T
A M
L B
~ D
ﬂ E
< ﬁ? 5 2y s
v G/
|
H
L
3 o NFEFR -[B]
| A B|lc | D|lE|F| G H |1 |J|K|L|M|N|O
mm | 5 | 10 | 15
6 125|195 | 26.5 6 8.5 9 7 3 M3x0.5P M10x1.0P 9 13 15 3 14.2 4 0.8
10 145 | 21 28 6 12 12 10 5 M4x0.7P M15x1.5P 13 19 | 215 4 14.2 4 0.8
12 15 20 25 7 16 12 10 6 M5x0.8P M18x1.5P 16 24 26 5 155 4 1
16 16.5| 225 | 29 7 19 14 12 6 M5x0.8P M22x1.5P 20 27 31 5 16.1 6 1




	3.0-B_部分160
	3.0-B_部分161
	3.0-B_部分162
	3.0-B_部分163

